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331 |Z0fth AF (\EHE) |[BSLHEXAAETEHERE| 98(8) A& 6.3
332 |[Zoftt HF (EEhE) BT /IVER 16H(8) L 7.4
333 [Zoftt HF (EEHE) BT aE 16H(8) IS 6.8
334 |[ZFoftt HF (EEHE) BT =HEET 13H (&) L 8.2
335 [Zoftt AF (RENS) [BRLUmHAMEETSE| 5HK) EN Y 6.6
336 [Zofth BB ELLEHETZHEF | 16H(B) 45.2 6.8
337 [Zoft BB BLUmAEITRERE  [16H(A) 19.7 12.6
338 [Zofth MR 8L HA0EHET 21H (£) L 10.3
339 [Zofth MR HANE =&FH] 17H(N) 70.0 8.5
340 |[Zofth 29 L= X BETETHER | 128 (K) L 7.8
341 |[ZFoft 2 ELUHHEANBIEE | 30H(8) IS 7.1
342 |FDfth £g LU HNETRE | 26H (K) A& 7.2
343 [Zofts £g BLUHHAMERESE]| 2H(A) A& 6.7
344 | ZFfth B (EW) BT ZIERTRRE | 20H (&) T 11.3
345 [Zoft ER 8L TE T Z HEF | 115 k) 55.3 5.5
346 |Z D1t BER JtEE 20H (£) L 6.1
347 |[ZFftt BRA% BB LT AHRET 5H (&) L 10.9
348 [Zofth BRA% BB LT AHRET 95 (H) 15.0 13.2
349 [Zofth BRE% BLLUThEH 25H (7k) T 10.2
350 [Zofth BR% BLLUThEH 25H (7k) L 12.2
351 [Zoft BR% 8L EHASTET /N T 2H(8) IS 14.6
352 |[Zofth = BLUHEEN FFEE| 13H(2) 8.6 6.1
353 [Zofth = EBLLI T AHIET 5H (&) IS 9.5
354 |[Zofth = BB LLI T AHET 12H (K) L 8.4
355 |[Zofth = BB LT AHHET 25H (7k) L 8.4
356 |ZFDfth =2 BLUTEARITERR| 9H(B) A& 6.6
357 |[Zoftt = BTSN 25H (k) T 8.4
358 [Zofth = LU EHATET =) | 30H(B) L 5.1
359 [Zofth = 8L A0 HRET 19H (K) IS 9.8
360 |[Zofth = LU HANE =2 | 206 (&) 7.4 6.0
361 |[Zofth =2 HA ™ 30H(B) T 10.6
362 |[Zfth X3 (FBU)  [ESLUThHEATETRLLE | 16H(B) T 12.9
363 |[Zofth F X3 (BRfF) (BT AHIET 48 (7K) 45.1 5.1
364 |[Zfth NFZY HNE=FH] 6H (&) 23.8 5.1
365 [Zoftt T LB ZFE | 16H(A) IS 1.7
366 [t T BB LT AHHET 48 (7K) 10.8 10.1
367 [Zoftt T BB LT AHRET 4H (7K) T 9.2
368 [Zofth T BB LT AHHET 24H (N) IS 7.5
369 |ZFofth Tl EBILUMEAHRHEECAN | 206 (£) A& 7.8
370 |[Zofth T BLUH=ZAAETATER]| 195 (K) 11.5 8.8
371 [Zofth Tl BLUHEXABBEIERER| 27H (£) e 7.0
372 |[Zoftt T E31LLh H AN BT 5H (&) 16.4 6.4
373 |[Zoftt T 3L HANHB] 19H (K) 5.5 4.8
374 |[ZFofth T E31LLh HAN BT 19H (K) 8.1 7.8
375 |[Zoft T E31LLh HAN BT 24H(N) L 11.0
376 [Zoftt T B LUmBEHMNE =2 16H(8) 6.3 6.1
377 |[Zoftt T LU BEMNHEEISE | 16H(B) L 5.1
378 [Zoftt T EBLLTh =FEHE] 18H (7k) L 11.4
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BRHEETREDHNERERR GHREALF1—L4) 71
REHRE  ERRTFENATH (H) ~FERR27TE118308 (A) (B : A Jbl/kg)
7 p— - BET | o BERFESE
g | A7V ; RS (118) £79k136+137 (£794134+137)
379 [Zfd T B =FEHET =M | 138 (£) AR 8.4
380 [z ot i ABm 6E(2) 5.3
B[00t A MDA LFEE| 6H(2) TR 3.9
382 [Z0fh =E ZILmE P8 T8E () TR, 15.5
383 [z ofid oK (88) |[RiFEEMM 9H(A) AR 7.5
384 [H2TEEEXK K (ZEXK) EZHm 48 (k) AR 8.0
385 [H2THFEEX K (ZEXK) BB LT AE] 48 (7k) AR 8.9
386 [MoTEER K (Z0F) BT ATE TOE(K) TR, .1
387 [H2TEEXK K (ZEXK) BRI =F2HHT 16H(8) AR 8.2
388 [H2THFEEXK K (ZEXK) I 48 (7k) AR 8.0
389 [H2THFEEXK K (ZEXK) =R 98 (H) AR 8.1
390 [H2TEEEER K (BXK) RIS 4H (5k) AR 8.0
391 [H2TEEEER K (BXK) EZHm 9H(B) AR 9.2
392 [H2TEEER K (BXK) BLmEEETZ 75| 16H (8) AR 8.2
393 [H2TEEER K (BXK) BB LT AE] 5H(K) AR 8.1
394 [H2TEEEER K (BXK) BB LT AHE] 16H(B) AR 8.3
395 [H2TEEEER K (BXK) AR 48 () AMEE 8.0
396 [H2TEEEER K (BXK) =REBRAM 30H(B) AR 8.3
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